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BREHE
No BT R HE HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke
1 TS EET R4.7.7 hRFv BREE9(<3.7) BHEE9(<3.0) BRHEEY
2 FitE=d= 3t R4.7.7 F—<> BRHEE9(<3.8) BREE9(<44) - Janpcc
3 FitE=3= 3t R4.7.7 SR (iEER BRHEE9(<3.9) BREE3(<4.1) - Janpcc N
4 FitE=d= 3t R4.7.7 EFOANSLY BREE9(<L5.7) BREEI(<47) - Janpcac N
5 [ EP T R4.7.6 kyEOOS BREE9(<4.6) BREEI(<47) - Janpcc
6 W IEHT R4.7.6 FY BRHET(<9.0) BRHET(<9.3) - Janpcc N
7 W IEHT R4.7.6 +X BRHET(<L5.6) BRHET(<L5.0) BRHEY
8 SEITHT R4.7.6 HRF+ BRHEE9(<34) BREE9(<2.6) BRHEY
9 [GEPET R4.7.6 TIL—A1)— BRHE(<3.3) BRHET(<L35) BRHEY
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